
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 2 7  -  1 6  = 1 1

2) 1 6 0  -  3  = 1 5 7

3) 8 2 1  -  1 1  = 8 1 0

4) 5 9 4  -  5 8 5  = 9

5) 6 , 3 1 9  -  2  = 6 , 3 1 7

6) 5 , 9 2 9  -  6 3  = 5 , 8 6 6

7) 9 , 9 1 8  -  2 9 3  = 9 , 6 2 5

8) 8 , 6 4 0  -  1 , 5 4 9  = 7 , 0 9 1

9) 5 5  -  2  = 5 3

10) 7 0  -  1 0  = 6 0

11) 1 1 0  -  1  = 1 0 9

12) 2 6 2  -  2 5  = 2 3 7

1. 11

2. 157

3. 810

4. 9

5. 6,317

6. 5,866

7. 9,625

8. 7,091

9. 53

10. 60

11. 109

12. 237

     

Solve each problem.

Subtraction (Horizontal)
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Answer Key



Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) 2 7  -  1 6  = 1 1

2) 1 6 0  -  3  = 1 5 7

3) 8 2 1  -  1 1  = 8 1 0

4) 5 9 4  -  5 8 5  = 9

5) 6 , 3 1 9  -  2  = 6 , 3 1 7

6) 5 , 9 2 9  -  6 3  = 5 , 8 6 6

7) 9 , 9 1 8  -  2 9 3  = 9 , 6 2 5

8) 8 , 6 4 0  -  1 , 5 4 9  = 7 , 0 9 1

9) 5 5  -  2  = 5 3

10) 7 0  -  1 0  = 6 0

9 810 53 5,866 7,091

157 11 6,317 9,625 60

1. 11

2. 157

3. 810

4. 9

5. 6,317

6. 5,866

7. 9,625

8. 7,091

9. 53

10. 60

     

Solve each problem.

Subtraction (Horizontal)
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